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Physics : Q. 1t0Q. 50
Chemistry : Q.51 to Q. 100
Biology  : Q.101to Q. 150
PHYSICS / Wifeerome
001. A very long solenoid is made out of a wire [ 001. Tsh ogd et ufefereht T AR @ & R
with n turns per unit length. The radius of the g SR @S § U hl WEAT 4 B |
cylinder is @ and is negligible compared to its T ST h BT ¢ B S 6 sEehl T
lei}glth l.tT}'lel 1nter11§)rﬂ(l)ft ﬂtl; ci/'hnder is ﬁllsd ) q ¥ g & | 3 e % I
wi ma. e_rlas s.uc .a e %near magnetic - qerd 7T e A
permeability varies with the distance r from
: : URTRAT SEh 9§ § gt r o @y e
axis according to
e ¥ uiafdd & @
() = 4, =constant; forO < r < b B
a U, = constant ;forb <r<a u(r) = =30 <r<h
=3 ;b<r<a
The self inductance of the solenoid is
GRATTeRT T TasRehed BT -
(A) mnllpmb® + 1d’]
(A) mn*llmb* + 1a?]
B) wn’llwm + mw]ad®
B) mn*llm + m]a®
(C) mn*l[mb* + 12(a* — b))
(C) mn*l[mb*+ 112(a* — b))
(D) zn*l[mb® + (i + 1) a*]
(D) 727’121 [,Lt1b2 + (/,L] + ,Ltz) a2]
2-BA | [2] [ Contd...



002.  Two children Ramesh (on path ARB) and Sohan
(on path ASB), travel down slides of identical
height / but different shapes as shown. Assuming
they start down the frictionless slides at the same
time with zero initial velocity, which of the

following statements is true?
A

t

|
I
1
v

B

(A) Ramesh reaches the bottom first with the
same average velocity as Sohan.

(B) Ramesh reaches the bottom first with a
larger average acceleration than Sohan.

(C) Ramesh reaches the bottom first with the
same average acceleration as Sohan.

(D) They reach the bottom at the same time with

the same average acceleration.

003. A stream of non viscous liquid emerges from a
very short outlet tube at the base of a large open
tank, in which the depth of liquid is 4. The tube
is at a fixed angle 6 to the ground as shown. The

maximum height of the stream y is

h
Ty
|, 7
0
(A) hsin’d (B) hsin26
(C) & hsin20 (D) htan0

002. T 9= WY (Y9 ARB W) Ug @7 (49 ASB
W) Th G HAE 4 8 EHER e 31w
TrehfaE W = it W fheerd § | 77 i %
T € THE 999 W Y 97 % @i u fed
fhaetl W fhaetT IRy id 7 | 5 0 9 i
HYF T B-

h

A
t

1

1

E R
¥

B

(A) T qefl W e o T8l TEEaT 8 Weg gl
1 3fFd 9T g9 B |

(B) Tl aell T e ¥ TEel UETdl § g T
1 TIET A 3d oo 31feres B |

(C) T qefl W TE ¥ T8t TEaaT 8 Weg gl
1 3T a0 THE B |

(D) TEI del T THM 7Y W Ygad 8 T qHi
1 3T a0 THE B |

003. Uk TN gd hl €W Tk §¢ Gl 3h & MR
T U Fgd B fid Foft & freperdt @ 9" w
79 I TS 4 B | SIS <l T % @ e

Fra 191 0 8 @ T Y st s p BNt -
h
Ty
%0
(A) hsin’d (B) hsin26

©) L hsin2g

> (D) htan*0

2-BA|
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004.  An eagle flies at constant velocity horizontally | 04, Uk &5 Uk 3/=R &fdST o1 & 1R | TH z@ E3l

across the sky, carrying a mouse and releases
ThS TAT ISH h GRH el
the mouse while in flight. From the eagle’s > I g ’ 3 %@ g
perspective, the mouse falls vertically with speed R & | SIS & Fa &l Jeafer =1 Bl T v,
vi. From an observer on the ground’s perspective, =t | firar 2 | sfie W e vetes o |mer foee
the mouse falls at an angle with speed v,. What is T WA v, A k&l e 81 s W e Yereh
el the speed of the eagle with respect to the observer
XK p g p
V2N
e on the ground ? o HIUE TS <h! =Tl FAT BRI 7
A A + B) vi—v
.g (A) Vi + V2 (B) Vi — V2 ( ) Vi V2 ! 2
el > 2 2 2
A (€) /vE — 2 (D) i ) vvi—» D) vi—vi
005.  The diffraction pattern of a single slit is shown in | 005. Uehal feog 1 faada afaey fo o eorfan T 21
figure. The point at which the path difference of I8 %@ HHET 7 & W T (BR) foron
the extreme rays is two wavelengths is qeTaT & quree™ o e § -
3 3
2 2
1 1
4 S 4 5
(A) Point 1 (B) Point 2 (A) Tg 1 B) fg 2
(C) Point 4 (D) Point 5 (C) fog 4 (D) foig S
006.  Which frequency produces a sound that can be | (9¢. = o & T 3417{&[ 2 freehi oty safw g
heard by a person? {Fﬁ ST Tehet 27
(A) 100 kHz (B) 40 kHz (A) 100 kHz (B) 40 kHz
(C) 2kHz (D) 30kHz (C) 2kHz (D) 30kHz

007.  Light from the Sun passes through a prism anda | ¢¢7. 1:@ % 1T I Th TISH GRI ORI ST 8 U WG
s;l)ectgum is produce;l on a screen. A thermometer (Screen) | W oTH TR ST R | %@ X | @l
placed at point X shows a temperature increase. 5 R
For the given diagram, which type of radiation PRI H 8 I;;@Q:;%H%?Q
i farfepton 9 dY dddl & ¢

causes this temperature increase? Select the most

appropriate option. ey 39F<h o =1 == Hifste-
soreen screen

narrow slit narrow slit\

i htf\ X light from )é

tlr?e SL%m \ red the Sun \ e

. violet
violet

(A) infra-ted Rays  (B) X-rays (A) TeRH TeRTol (B) e oot
(C) ultraviolet Rays (D) visible light (C) TreTT femtot (D) T feptot

2-BA | [4] [ Contd...



008. Light has wavelength 600 nm in free space. It
passes into glass, which has an index of refraction
of 1.50, What is the frequency of the light inside
the glass ?

(A) 33X10"Hz
(C) 33X10°Hz

(B) 5.0X10"Hz
(D) 5.0X10°Hz

009. Two SHM are represented by the equations
— - T
X1 = 20sm[5m+ 4]
x2 = 10(sin 57t + \/gcos 5xt)

The ratio of the amplitudes of the two motions is
(A) 0.5 B) 1

(C) 025 (D) @

010. Ther m s speed of hydrogen molecule at a certain
temperature is v. If the temperature is doubled and
hydrogen gas dissociates into atomic hydrogen,
the r m s speed will become

(A) v B) 5

(C) 2v (D) v2v

011.  The activity of a radioactive element decreases in
10 years to 1/5 of initial activity A,. After further
next 10 years its activity will be

a P ®) 1o
© 12 (D) %2

012. Four very long wires are arranged as shown,
so that their cross-section forms a square, with

008.

009.

010.

011.

012.

V2

YT I A 600 nm T AT H B | T35
% 4 gfas gidt & fSEest sm™edars 1.50 2 |
TR hI T oh TG S &1 7 7

(A) 33X10"Hz (B) 5.0X10"Hz

(C) 33X10°Hz (D) 5.0X10°Hz

T WA ATad AT e iR g Teidia &
STt & -
X1 = 2051[1[572’[4‘%]

x2 = 10(sin 571 + \@cos 57t)

ST TR ok STTATHT <1 7T T BITI-
(A) 0.5 (B) 1
(©) 025 (D) @

Ffe foreht ffera a9 W gIEgSA o19) i ot wrew
I = (rms) v 8 | If¢ qOEH I AT foRa
Tl & e BTEgie 4 grgersH wasi # famfed

Bl Sl & d9 a7 HIed g 91 sifi-
(A) v B) >
(C) 2v (D) v2v

weh i afsha verd ity wieaar A, & e
g 10 9N H Heeht JRIRTeh |ishrar <t 1/5 &1 St

2 3 3Tt 10 o e sHeh! wisrr anfi-
A 4 ®) 16
© 12 (D) e

TR §5d T q FETIER 39 TR SAafEd § 31
T FRRTER e &5 R & a1 § 9 39 =91 d’

connections at the ends so that current / flows ¥ f 7{1,% 5 3 yor aR F e G/
tl.lrough all four wires as show.n. Length of eac.h 25w N EF'f 1 b 3 | S
side of the formed such square is b. The magnetic - . P -
field at the central point P (centre of the square) is P (= &5 ) W E\[@ﬁ'&l -
I > ~ 2 D) I > i\ < E‘\I D]
C e B S ( b R
I( ~L al I\
Lol 20l /1_0] 2[10[
A ®) “ A 7 B)
Mol Lol
) 0 D) ——=—— D
©) (D) 2 1b (€) 0 (D) N
2-BA | [5] [ P.T.O.



013.

015.

A nonconducting ring carries linear charge
density A. It is rotating with angular speed ®
about its axis. The magnetic field at its centre is

3i0dw HoAw
) 2 ®)
© e ©) miw

A stationary source (see figure) emits sound
waves of frequency f towards a stationary wall.
If an observer moving with speed u in a direction
perpendicular to the wall measures a frequency
f'= % f at the instant shown, then u is related
to the speed of sound V¢as

Source
Wall
os--.
Observer “

3 3
&) 3 B) 3V

1 8
© 1% D) 5V

The front solid cylinder has mass % while the

back one solid cylinder has mass % The centers

of these cylinders are connected by massless rod
as shown. Both the cylinders have same radii R.
The system is released from rest on the inclined
plane. The cylinders roll down. The speed of the

rod after system descending a vertical distance / is

013.

014.

015.

T ITATAS I W A& BFcd A Tdl 2 |

T& I A o & 56 FE H oRe: ghi B

2 I $Heh chg W JEIHIT & B -
(a) Moo B) “de
(© A (D) Ao

e R Ed(source) (o 3@ ) s foor A
1 T Tf A et T Ieq= w2 | fow
T 8701 TR R o errsrad TiaTH Y& (observer)
ﬁwﬁmau%agm%f'=%fmﬁﬁm
B u AW A A Vg W Y B -

Source
Wall
C-=--»y
Observer

3 3
A) 4V B) gV

1 8
© 4V D) 3V

3 (front) 39 & T gIHM %%Tﬁlﬁﬁ
13 a1t Gt A 1 gee AL E | w Ao
% g geadH Ued B ¥ FEgEn g8 § | gFl
St 1 Bt R 99 § | 39 fee @6 a9
o o | T fohel ST 2 | S redt T
3 | 9 # = w1 Bl 9 few e 3wt
gl h T a7

back back
front front
0 0
2gh (A) 28h (B) /2gh
(A) 3 B) 2gh 3
4gh 3gh
4gh 3gh =60 257
© D) /5" © V73 By
2-BA | [6] [ Contd...



016.  Suppose a particle of mass m moving with

2
potential energy U = kg + Ae™™ has velocity

v, when its position is x = a. Here k, 4 and o are

constants. The particle will be able to pass the

origin if

mvg + ka’

Ay A= -

( ) 2(1 — e—cm)

mva + ka’
B) AS—+——-

( ) 2(1 _ e—aa )

mva + ka’

C) As——— -

( ) (1 _ e*(m)

mv; + ka’

D) Az——--

( ) (1 _ e—aa)

017. A rectangular wire loop with length a and width
b lies in the xy plane as shown. Within the loop
there is a time dependent magnetic field given by
B=c [(x cos wi) i+ (ysinwt) k ]

Here ¢ and o are constants. The magnitude of emf
induced in the loop as a function of time is

R4
|

I

I

|

1 b ___,y

a
/l
xl
2
(A) ‘ a192c a)cosa)t‘

(B) |ab*cwcoswt|

© %L osinon

(D) None of the options

016.

017.

¥g "I foh T Hu FEH G90H m 2 98
feufes et U=%‘2+Aew‘2é€w9wri%raﬂw
® | 9 A x =g TR & dl SHeRT o v, Bl B
STl k, ATAT o =X 7 | 0T YA fog I IR A
o gmef B Afe -

mv?+ ka*

(A) AZW

mv: + ka’

(B) A= 2(1 _ e—aaz)

mv? + ka*

(C) A= (1 _ e—aaz)

mv: + ka®
(D) AZW
Th AR IR 1 U Heh s o a0
EISH |€|_8'|%|5||§P|Ixyﬂ?fﬁ% IFﬁa’»“ﬂﬁ'{
T W R ek & e R -
E=c[(xcoswt)f+(ysinwt)l€]

Tl ¢ AU o IR 8| THI % HoH b &9 H T
# Iftq forega arges st o1 wfwmrer gm -

<

— = ———

(A) ‘ab;c wcoswt‘

(B) |ab*cw coswt |
a’bc .
©) ‘ 5 wsinwt ‘

(D) T ¥ g fosheq &l

2-BA | [7]

[ P.T.O.
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018. A Tennis ball with (small) mass m, sitsonthetop | 18, us B H e o gegq™ m, 2 I8 Uk e

of a basketball W‘ith (large.) mass m,. The bottom qTEhe e Frdet geamH m, 2% oy e |
of (tlh::hbals)ki::ball 1; z:; a kie1gI.1t }]: ai)lo.ve tile g;ogr;lc: e e e T S L e
and the bottom of the tennis ball is at a heig . .

(h + d) above the ground. The balls are dropped éﬁ'{:r TTe = fieret e i i 4 W-r{(h +d) %l
from rest. Here all collisions are elastic and et bl ]%m'q # q® feparr St 2 1 = wft e
m, >> m,. To what approximate height from the T & AT my >>m, 3 | SHIA | o TRt
ground the tennis ball bounce ? Vﬁl'sc qeh 9 ﬁ? ITAT ?

— = —>
— > —>

(A) d+h (B) d+2h (A) d+h (B) d+2h
(C) d+3h (D) d+9% (C) d+3h (D) d+9h

019.  Anellipse has uniform linear positive charge density | 019. TUsh Z‘ﬁ"ﬁT{d & U AT W H UH GHH &

in upper half (total upper half part charge +Q) and AT AT Tcd (S 318 9T T Fol AT
uniform linear negative charge density in lower half +0) 2 au e g am ° v e Wy
(total lower half part charge —Q) as shown in figure. RUCHF 3199 g9cd (ﬁﬂﬁ 9 9 w5 Fd
Here semi minor axis b < a semi major axis. Select SRS Q) e ? | wet o1 @y 31 b < q
the correct statement about the magnitude of electric
aref &l @11 B | el o ferega foya smepd P
dipole moment P of the ellipse 5 ¥ o # T e 9 éla ~
+ T+ + 4 +
+ n y T
+ + + +

o o b b

(A) P=75 (B) 0<P< (A) P=% (B) O<P<%
b

(©) % <P<20b (D) 20b © % <P<20b (D) 20b

020.  Consider the circuit shown below. The currentin | 020. = feu 7u oz =i <fifse | o=t sfediy 40 @

the 4Q) resistor is Taigd am ‘&ﬁ"'ﬁ
50 3Q 10 50 30 10

12V = 10Q 40

4 12V = 100

AAA A
wy—= vy Wy~ AAA
wy—= vy Wy~

20 20 SQ 20 20 50)
(A) 0254 (B) 050 4 (A) 0254 (B) 0.50 4
(C) 0.754 (D) 1.00 4 (€) 0.754 (D) 1.00 4

2-BA | [8] [ Contd...



021. A thin layer of oil (index of refraction 1.5 and | 021. Ueh o <hl Udcil Wd (ﬁm%m YT 1.5 8 a1
thickness 500 nm) floats on the surface of the H1eTE 500 nm) S o 371 5o (Feet srverd=meh
liquid (index of refraction 1.24). Now white light 1.24 %) 6l Tag W At % | 3 Fl"?ﬂ TbRI g9
is normally incident on the thin film of oil . Of the qe <l Udel! Wa W Aferrsed fiear 2 | 1 0
following, the most reflected wavelength is Y it quTeerd oy At qafda gt
(A) 500 nm (B) 550 nm (A) 500 nm (B) 550 nm
(C) 600 nm (D) 650 nm (C) 600 nm (D) 650 nm

022.  Point charges 30 C, —20 C and 10 C are located | 022. foig 3@ 30 C,—20 CaA1 10 C fogati (1,0, 2),
at (-1, 0, 2), (0, 0, 0) and (1, 5, —1) respectively. (0,0, 0) AT (1, 5, —1) W HA: fe¥d B wh w9
The total electric flux leaving cube of side 6 m Ry S 6 m 2 a e g T ]%@ Ty
centered at the origin is iz 2, 38 59 & e fergga e A -

—20 10
A) — B) —20 10
A B) ¢ (| B) ¢
20 30 20 30
© < (@) 2 © 2 (@)

023.  Two infinitely long wires carry linear charge | (23, @ 37=d @d dX 9 (@™ A Ocd SHA:
densities +A and — A respectively as shown. ﬁﬂw T 1%@ A GdT B % 05
T‘he potential difference ‘F)etween points A (at a fawareT 1 A 7 (EIET ]%@ A TUH AR 4 Eﬁ
distance a from the first wire) and B (at a distance 3 . -~ 3 3
b from the second wire) is & e fag Px ?IT_{ N bW R)

+ -
PR
4]
4 B
4 B DL N
FLAR N
A (d—a)(d—b)
A <(d—a)(a’—b)> (A) ln( )
(A) —27760 In T a 2re, ab
A <d2 ) B A 1, (ci)
(B) 271'80 In ab ( ) 271’80 ab
1), (U-ad=b) Ay, (W-ae=b)
© 4re, In ab © 4re, n ab
1 (td=au=b) 1 (d=ad=b)
(D) 2me, ab (D) 2re, ab

024. A charged particle of mass 2 kg and charge 3C | 024. T T o1 Rt geme 2 kg qun CICN
starts with initial velocity 4 + 3k in an electric 3C g 98 URMYSH AT 4/ +3k @ fayga &=
field 127 + 10;. Here all units are in SL At time 12 + 10j T Tfq T IRY LT & | J& @t
¢t =1 its velocity becomes ThISAT SI W B | THT 1= 1 W SHHT o gHTI-
(A) 16] +10j+3k (B) 407 +30j + 3k (A) 16/ +10j+3k (B) 40 +30j + 3k

2-BA | [9] [ P.T.O.
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025.  Which of these materials requires the least value | g25, 4= & & =@ geref & fou soen Jrafehd T

of magnetic field strength to magnetize it? o fou grerchi & 1 A HH ETIh -
(A) Nickel (B) Silver (A) Trerat (B) =l
(C) Tungsten (D) Sodium Chloride (C) T (D) Hifeaw FAES

026. A chain of length L and of mass m is placed upon | 026. T ISR sl g L A1 GAHH m & | $6hI

a smooth surface. The length of BAis L — h. Now Toh Ferehedl Teg T T@T Sl 2 | SIS S A BA
I TG L — b 7 | I SR I Gk FRAT SITar
8 d1 98 = wedt 3 | SRl Are 91wl
v ggent fqu B feufa w g 2-

the Chain is released and it slides down. Calculate

the speed of the chain when its end reaches B

gsinf(L* — b*) in@(L* — b*
() £SO () fEIE=E)
2gsind (I — b*) 2gsind (I — b?)
®) \/ L (B) \/ 7
(C) 2gsinf(L —b) (C) 2gsinf(L — b)
(D) gsin@(L —b) (D) /gsinf(L —b)
027.  The basic idea of MASER was first given by 027. B (MASER) 1 et foram ween fiet = feom o -
(A) Max Planck (B) Einstein (A) T ATH (B) ML
(C) Townes (D) Fresnel (C) TR (D) %A

028.  The average value of rotational kinetic energy of | 028. dM9HM T W Ush HidA TS N9 <kl 3TEq T‘h

one mole of oxygen gas at temperature T will be Tfast St gifl -
3
(A) RT (B) 5 RT (A) RT (B) 3 RT
(C) 2RT (D) L g7 5 1
2 2 ©) 5 RT (D) > RT

029.  If the coefficient of static friction between shoes [ (29, Ife Tk g1k _{cﬁ T 99 o [ LAfae g9y
of a runner and the track is 0.85, the greatest W 0.85 2 A1 €Ta 2 IcUe M cawor

? 2
is (here g gravitational acceleration) 1A T (e g el < %)

(A) 1.85¢ (B) ¢ (A) 185¢g B) g
(C) 0.85¢ (D) 0.15¢ (C) 085¢g (D) 0.15¢

acceleration that can be generated by the runner

2-BA | [10] [ Contd...



030.  Two planets (each having mass m) revolve around | 039, 1 78 (YAS H g m B) r B &6 g |
a stationary star ( of mass M ) in a circle of radius % R ar (Ries goamm M 2) % =/ i)
o s 1, ey are il oppodts mnd o @ £ 2 e S el
always having separation 2r ). The orbital period SR § 1t .: Al BELE
3 T 2r B ? | 3 TR A HEF wA T I wG
T of the planets is of the form 7 = 2« G’;\/I' . 3
What is the value of M'? ﬁ@TITT=27z,V GM' 1 M T HI AT ER 7
m m _m _m
(A) M—75 B) M- (A) M 2 B) M 7]
m m
C) M (D) M+ © M D) M+-p
031.  An infinite number of capacitors 2.0 uF, 4.0 uF, | 031.  3T9=d G § LG 2.0 uF, 4.0 uF, 8.0 uF, 16.0
8.0 uF, 16.0 uF, ............ are connected in series. 177 oroft shH | g@ f 2 | e i qed
The equivalent capacitance of the system is yTiear gt -
(A) oo (B) 0.25uF (A) o (B) 0.25uF
(©) 0.5uF (D) LOuF (C) 0.5uF (D) 1.0uF
032. A motion is described by y = 4¢*(e™>) wherey, | 032. T Ty = 4e¥(e7) g & It B &l Y, X
x are in metres and t is in second. A dut AR H g -
(A) This represents progressive wave (A) I8 TH —x fgom & I 5 m/s g TfoHe
propagating along — x direction with 5 m/s AT T <Rl ST 8 |
(B) This represents progressive wave (B) JE UH +x e & ST 5 m/s T Tfem
propagating along + x direction with 5 m/s AT T <Rl ST 8 |
(C) This does not represent progressive wave. (C) 98 Ueh WTTHT AU <kl T8 a9ridr @ |
(D) This represents standing wave. (D) g Ueh AWIHY TUT I gIiaT B |
033. A ray of light is incident on the plane mirror at | 033. Wk Jehrer fomtor Ueh foum § W@ g9dd <o ©
rest. The mirror starts turning at a uniform angular AMfd Bidl 8 | I8 <Y Teh HHME hIVIF a0l
acceleration of m rad.s 2. The reflected ray at the rrads? O AT YRH T & | Watdd fepeor
end of % s must have turned through a0y % s o 9gTd T gﬁﬁ{—d g-g B -
(A) 90° (B) 45° (A) 90° (B) 45°
(C) 22.5° (D) 11.25° (C) 225° (D) 11.25°
034.  In npn transistor circuit, the collector current is | 034. U npn ;n%w gy ﬁ, GUTEs €T 20 mA Bl
20 mA. If 90% of the electrons emitted reach the afg 90% IeafSid AT HUTEH T qg?lﬁ kil
collector then the (A) St ST W 16 md B |
(A) em%tter current W%ll be about 16 mA4 (B) IeSE G 19 mA B0 |
(B) emitter current will be 19 mA4 c 5 Ews
(C) base current will be about 2 mA (€) SER Hrd mA !
(D) base current will be about 10 mA (D) SR G T 10 mA |
2-BA | [11] [ P.T.O.
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035. A wheel of radius 2 m rolls on the ground with | ¢35, we ufgan frEeh Bsam 2 m & 99 Wt g9
uniform velocity 4 m/s.The relative acceleration AT 4 m/s B AR A B @R | RS  ged
of the topmost point of the wheel with respect to freqam 1%@ % 9Ny ufed & ey I=dq 1%@ ol
the bottommost point of the wheel is T B -
(A) 8 m/s? (B) 16 m/s? (A) 8 m/s? (B) 16 m/s?
(C) 4m/s? (D) 32 m/s* (C) 4 m/s (D) 32 m/s

036. A stone is released from an aeroplane which is | 036. U UceR <l Ush BT ¥ Uk fohdT SITT 8 | T&T
rising with upward acceleration 5 m/s%. Here TR FH T 5 m/s? 8 ST IS W 2 | T&l
g = 10m/s*>. Two seconds after the release, g=10m/s23 | g L o G HhUS YT Teo
separation between stone and aeroplane will be qAT ZATST o HEY gﬁ ghft -
(A) 10m (B) 20m (A) 10m (B) 20m
(C) 30m (D) 25m (C) 30m (D) 25m

037.  Asolid body rotates an angle 6 about a stationary | (37, s 319 & TH oo 3197 & ufta: & 9 & fA=
axis according to the law @ = 61 — 2¢>.What is g 0=6/—24 @ ?{fﬁfﬁ AN R T =0
the mean value of angular velocity over the time ot el 9 o A 3T R 37w %
interval between ¢ = 0 and the time when the body ST R S R A SR G
comes to rest ? (i/
(A) 1rads (B) 2 rad/s (A) 1rads (B) 2 rad/s
(C) 3rad/s (D) 4rad/s (C) 3rad/s (D) 4rad/s

038.  For sodium light, the two yellow lines occur | 038. WfgIq Tehral & fou @ diefl T@d qumeedt A
at A; and X, wavelengths. If the mean of these TAT L, W Bt 8 | Ffe T 1 T HIET 6000 4°
two is 6000 4° and |A, —Ai| = 6A°,then the a1 gae .
approximate energy difference between the two 8 H;T:ﬁ Azw_fﬂlwﬁ_ ;;A f ik 7»1.?[94'[ g;:%%ﬁ A
levels corresponding to A} and A, is & 5 "= S N
(A) 2x 103 eV (B) 2eV (A) 2x107 eV B) 2eV ]
(C) 2000 eV (D) 2 x 106 ey (C) 2000 eV (D) 2x10°elV

039. During the adiabatic expansion of 2 moles of [ 039. T C’ﬁl’l’d{k’]C 9 & 2 Hid o TUIH JEOR § 37dieh
an ideal gas, the increase in internal energy was Sl o (-200 J ) <t Qﬁd Tt 2 @1 39 WA | |
found to be equal to (—200 J ). The work done by 2T o T B -
the gas during the process will be equal to A) 0 B) 400J
(A) 0 (B) 400J (A) (B) 5
(C) —200J (D) 2007 (© 2007 (D) 2007

040.  In the given circuit, potential difference between | 040, feu 7w gfgy ﬁﬁ@fsﬁ A dU1 B 75 favaiat 2 -
Points A and B is 4V 4y

2V 4|V_ 4V
20 302 250
3Q
A B

(A) 6.7V (B) 3.7V (A) 67V B) 3.7V
€ 4V (D) 10V (C) 4V (D) 10V

2-BA | [12] [ Contd...



041.

The angular momentum of an electron in

nom, o 041. Wwﬁaéﬁng@mmﬁ%%
hlydioger.l atom is . The kinetic energy of the 3@3@__{ e e A
electron is
(A) 13.6¢V (B) 3.4 eV (A) 13.6eV (B) 3.4eV
(C) 151eV (D) 0.85eV (©) L5leV (D) 0.85eV
042.  Which of the following is not the unit of surface | 042. 1= 4 @ S EEAEIC 6 3RS TR B 7
ion ?
tension ? (A) N (B) Lz
N J_ m m
) o ®) %
Kg Watt
K C) — D) ——
©) S_;? (D) W;Zﬂ ©) 2 (D) m
043. A disk of radius R and mass M is at equilibrium | 043. Ush =eha! forEeh! 5= R 9 geam M & 98 feafa
at position D on the smooth inclined plane which D W Uk fIehd 90 90 W Hr=gmaeen 4 g | 98
gq.allzes an anglle 0 with ‘gle Vertic-al ai Thown(.1 The I9 a1 ILaTET % 1Y ﬁsng&rr{ 10T 0 ST 8 |
1sk’s centre 1s attracted to a point A located at a 3 o <
IGELGEI 3eaier d a8 W foua fog A
vertical distance d above the surface as shown. A 3R Wf ¥e dﬁf KN ]%@
Assume that the force of attraction is proportional T . ! ag T
to the distance from the disk’s center of mass to o arrehdur 11 =Tl o geAHH g @ ]%@ A
point A ; i.e. assume that F = —k » where r is the 0 o YT BT @ 31T F =k r & ¢ =ehat
distance from the point A to the disk’s centre of % goIH e I 1%@ A E.;ﬁ 2 dAqT k TR %,
mass and k is constant. Then distance BD is & gl BD &t -
A
/ i
Ed = ARB 18 Ed =AB ¥4
5 0!
B B
D D
Mg Mg .
(A) (% - d) cosf (B) (% - d) sin 6 (A) (T - d) cost (B) (T - d) sin ¢
Mg Mg M M
© (Y +4) cost © (M -a) and © (M1 a) coso ) (Y- a) wno
044.  One milligram of matter converted into energy | (044, Ueh AU g7 T Sl H TY=ALOT BN -
will give . (A) 90J (B) 9x103J
(A) 90J B) 9x10°J 10 s
1 D 1
(€) 9x1010 (D) 9x105J © 91077 (D) 9x10°J
045.  An object of mass 10 kg falls from rest througha | 045. T 9% a1 geamm 10 kg 2 ¥ fom @
vertical distance of 10m and acquires a velocity IR gt 10m ¥ fRet 8 991 I8 10 m/s I
of 10m/s .The work done by the push of air on the o7 YTed il 7 | TE W FA g EoIRIDIRCID]
object is (g = 10 m/s?) ghT- (g =10ml/s*)
(A) 500J (B) —500J (A) 500.J (B) —500.J
(C) 250J (D) -250J (C) 250J (D) -250J
2-BA | [13] [ P.T.O.
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046.  What type of waves are produced in a sitar wire 046. THaR ar & e 901 Ic9= gl B
(A) Transverse progressive (A) ITITEY T
(B) Longitudinal progressive (B) 3‘-!3%‘%]?3? Tt
(C) Transverse stationary (C) A9 STITTH
(D) Longitudinal stationary (D) 3Tgcdd ST
047.  Alongrigid wire lies along the x axis and carriesa | 047. T SEL ge dil x Y * 3 <ol 7 YT sud
current of 10 A in the positive x direﬁction; RouncAl YgqTeqh x 318 343'%5[ YT 10 A YaTtad & @I
the wire external magnetic field is B =i + 2x2j % | 9T % =T WWW STB=i+ 2x2j'
;vnh x.m éllleter.s‘,[ and Bthm Tesla. ”fhefrglagnejuc Sl x M A2 A B 3 § 2 | AR %
orce (in SI units) on esejgmen of the wire = Im @ x =4 m % e T W e
betweenx=1mandx=4m is .
1280 (SI 3r% #) Brm-
(A) 1260 (B) =37 (A) 1260 ®) 1280
(C) 1310 (D) 420 (C) 1310 (D) 420
048. A train travels east towards Hubli at 80 km/hr. A | 048. T o %f &I 3R gﬁl?ﬁ &I T A1 80 km/hr
man on the train runs from the front of the train TIfd St 8 | Teh SARE o W 3 8 ND il T
toward the rear of the train at 10 km/hr with respect 10 km/hr & o o GTU&T dredT 2 | 3H dred 7"
to train. As he runs, he carries a plate of fruit with =Tt o I Ueh %ol Sl Wi & 98 I8 JTed hial
him. He notices a giant spider on the plate and 2 5 T o) TS Wi W R | 98 W % ane
throws the plate away from him (toward the rear of e F 20 k m/hr @ =9 B = ?3 ¥ D € T
the train) at 20 km/hr with respect to him. Just after 3 2 | o 3ot &1 % warq e q
that instant, the startled spider jumps towards the & 5 ’
man at 5 km/hr with respect to plate. The instant f 2 Wﬁ ti? & W Sa;kr%/;r N > g
after the spider jumps toward the man, how fast is y oS TR [%PT 3 t[%n?-r? &
the spider approaching Hubli? geIe e 2
(A) 45km/hr (B) 115 km/hr (A) 4Skm/hr (B) 115 km/hr
(C) 55 km/hr (D) 95 km/hr (C) 55 km/hr (D) 95 km/hr
049. The ratio of magnetic field at the centre of a | 049. ZI'%QEB CICIF! WW%WQ’(W
current carrying circular coil to its magnetic AT qYAT 3T Jreehi 3:1'[:-:&1? T I x 2 |1 gfe
moment is x. If the current and radius each of IR SR IR e E i) T oo STaT & A
them are made three times, the new ratio will T A @TIT
become (A) 3x B) 9x
(A) 3x (B) 9x (€) x/9 (D) x/27
©C) x/9 (D) x/27
050.  IfA, and A, denote the de Broglie wavelengths of | 050. 1 U1 T G THH 2 g STehT AT 1:2 |
two particles with same masses but charges in the % | afe A 4T A, &1 Z‘ﬁ T <hT Y S ?RTI??ZIQ
ratio of 1:2 after they are accelerated from rest &l Idid g Ife 35 fom @ wuE fawera gro
through the same potential difference then caftd o ST &
B) A=k B) A <hy (A) X =) (B) % <1,
©) A >0, (D) none of the options © A >, D) = 3 R T8
2-BA | [14] [ Contd...



CHEMISTRY / @9

051.  If a mixture of FeO and Fe;O, contains 75% Fe, [ 051. FeO T Fe;0, = Tk o § Ife 75% Fe & a1
what will be the percentage amount of each oxide Yok ATFTSS i fehaa wfaera frsor o 3ufeua
in the mixture? BT?

(A) 64.10% FeO and 35.90% Fe,04 (A) 64.10% FeQQé 35.90% Fe,04
(B) 50% FeO and 50% Fe,O, (B) 50% FeO T 50% Fe,04
(C) 75% FeO and 25% Fe;0, (€) 75% FeO Td 25% Fe30,
(D) 35.90% FeO and 64.10% Fe,0, (D) 35.90% FeO T 64.10% Fe, 04

052.  What will be the correct no. of total electrons in | 052, 1.6 g HI9F & T Fo SIFHT 1 &l HH R
1.6 g methane " ” (A) 6.02 x 102 (B) 6.02 x 1023
(A) 6.02 x 1022 (B) 6.02x10 \ (©) 6.02x 102 (D) 9.632 x 102
(C) 6.02x10 (D) 9.632 x 10

053.  Which of the following pair of salt produces | 053. =1 o fopg otaur I dd HZSO4ﬁ R 81 ™
Odourless gas with dil H,SO, TYEH 19 Icafaid gt &

(A) HCO3 and HSO3 (A) HCO3 U8 HSO3
(B) HCO3 and CO3 (B) HCO3 W CO3

(C) S20% and CH3CO> (C) S203 W CH3CO:
(D) CO3 and CH3CO2 (D) CO3™ W CH3CO:

054.  One litre of an acidified solution of KMnO, | 054. T Wflet KMnO, sl 3freiiehd oo 5 15.8
containing 15.8 g KMnO, is decolorised by g KMnO, 3Iufesrg 2 SO, 1 gateq qEn § faifiag
passing sufficient amount of SO,. If SO, is Topam | e SO, ST WSS (FeS,) & WA
produced by roasti.ng of .iron pyrite (FeS,). 3 EFlTIﬁH ﬁ i % I TEEF S OZB?CITEH =3
The amount of pyrite required to produce the
necessary amount of SO, will be  fom FeS, 6t e 2wt
(A) 15.8 g FeS, (B) 15.0 g FeS, (A) 158 gFeS, (B) 15.0 gFeS,

(C) 7.5 gFeS, (D) 7.9 g FeS, (C) 75 gFeS, (D) 7.9 gFeS,

055. If an e is revolving in the first bohr orbit of a H [ 0S55. afg T Sﬁ'ﬂ'ﬂ H 9] % YU SR Heh °
atom with a velocity of 2.19 x 10% cms™!, what 2.19 x 108 cms™!, & FFht T T&T 2 @1 H ITHTY
will be the velocity of the e in the third orbit of * ;Fﬁ—q 7 eI o W—,, T ST FT B
H atom . (A) 2.19 x 108 It F.-1
) 2 o a0 8
(C) 6.57 x 108 cms™! (C) 657 10 % &

(D) 1.09 x 108 cms-! (D) 1.09 x 108 &+t §.~!

056.  Which is the correct formula of Forstrite 056. THIRECIES 1 Hal G i |1 8 7
(A) Mg,Si0, (B) Al (OH), (5i,05) (A) Mg,SiO, (B) Al,(OH), (Si,O5)
(©) ZrSio, (D) Ca;8i30, (C) Zrsio, (D) Ca,Si;0,

2-BA | [15] [ P.T.O.
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057. Which of the following is optically active | 057. fr g9 %= o 3] IR AfhT &
lecul
molecule CooMe COOMe COOMe COOMe
HO H D OH HO H P ot
(A) (B)
A u By on HO H D OH
COOMe COOMe
COOMe COOMe
COOMe oot COOMe COOH
H OH H OH
H OH I OH (@) (D)
C D
©) - oH (D) " o H OH H OH
COOH COOH COOH COOH
058.  Which of the following does not show aresonance | (58. = o =4 SATE ITE Tal z{sﬁa'[ %
cfect (A) C(H,OH (B) CAHCI
(A) C(H;OH (B) C¢HCl
(C) CgHNH, (D) C¢HNH, (C) CgHsNH, (D) CgHsNH;
059.  Petroleum refining involves 059. Uifetaw 9itsshior & raT 3
(A) Vaccum distillation (A) Trata sEee
(B) Fractional distillation (B) AT STTHIH R
(C) Steam distillation (C) aTSq AT ThTT
(D) Simple distillation (D) HTERUT SATESHIRLT
060. D — Glucose units in cellulose are joint by 060. HIAN TD- TThIST Toh1EAl fohEeh g g?f[ gt 8
(A) a—1,4 glycosidic bond (A) 1,4 TATEHIETSH T
(B) B -1, 6 glycosidic bond (B) B -1, 6 TATZHITTSSH el
(C) B-1,4 glycosidic bond (C) B-1,4 TTShIETE SH o7
(D) Peptide bond (D) ITEE &4
061.  Most reactive alcohol towards esterification is 061. & 3rfifshan & fore f @ e tenlgla
(A) Primary alcohol rfershan afshar g
(B) Secondary alcohol (A) T Teehlgle
(C) Tertiary alcohol (B) fadae o PTEICT
(D) All are same reactive © 9 IR
(D) @t TH= ¥ ¥ Gl
062.  The Markonvikov's rule is best applicable to the | 062, form 31fufsran & foru arepiY e fow gaifees
reaction IYTHT B 7
(A) C,H,+HCI (B) C,H,+Br, (A) CH,+HCI (B) C3Hg + Br,
(C) C;Hg+HBr (D) C3Hg+Cl, (€) CGHg+HBr (D) C3Hg+Cl
2-BA | [16] [ Contd...



063.  The addition of Br, to (E) —but — 2 — ene gives 063. (E)-sg2 -2 A Br, T AN AT 61
(A) (R,R)2 - 3- dibromobutane 3Ic1e g
(B) (S,S)-2 -3 -dibromobutane (A) (R,R)2-3- géaﬁ‘qﬁw@q
(C) (R,S)-2 -3 -dibromobutane (B) (S,S)-2-3 - SIESHIeYA
(D) a mixture of (R, R) and (S, S) 2, 3 (C) (R,S)-2-3 - SEIHEEHA
dibromobutane (D) (R,R)TH (S, S) 2,3 SIS 1 fuzu
064. Which among the following compounds will | 064. T=1 ¥ & 9 @1 Jifieer HE 9 awriar a7
have meso form (A) CH,OH — CHOH — CHOH — CHO
(A) CH,OH - CHOH - CHOH - CHO
B) CH,OH - CHOH - CHOH - COOH
(B) CH,OH - CHOH - CHOH - COOH (B) 2
(C) CH,OH — (CHOH), -~ CH,0H (C) CH,OH —(CHOH), - CH,0H
(D) CcH;—CHCI—-CHOH — CH,4 (D) C¢H;—CHCI - CHOH — CH,4
065. Which compound will be most reactive for | 065. T9= & &= @1 Afis 3@1&'@1’—!’@3’1 PIUIRIED
electrophilic addition reaction stfufspan & forw gatfess afsea g
(A) CH;-CH=CH-CH; (A) CH;-CH=CH-CH,
(B) CH;-C = C-CH;4 (B) CH3-C = C-CH3
(C) CH; - CH=CHCOOCH, (C) CH; - CH=CHCOOCH,
(D) (D) |
O 0
066. At 298 K what will be the change in standard | 066. 298 K W 31f¥fsha & fofu Aes a1=diteh ot
internal energy change for the given reaction Y= &= ghm ?
OF2(g) + H20(y) O2(g) + 2HF() OF2(g) + H2O(y) —— O2(g) + 2HF()
AH = —310kJ AH = —310kJ
(A) —312.5kJ (B) —125.03kJ (A) —312.5kJ (B) —125.03kJ
(C) -310kJ (D) —156kJ (C) -310kJ (D) —156kJ
067. How many ¢ bonds and r bonds are present in 067. N=C—_ _~C=N
NEOS N N=e— ~cen
— €= C\
N=C C=N ¥ o o @« vy 3UEdd
(A) So+8n (B) 9oc+7n (A) 56+87 B) 96+7x
(€) 90+9m D) 506+9m (C) 96+91 (D) 56+9™
068. Which of the following reactions is a redox | 068. o= arffsranati § w9 i stfrfshan stereiera=rA
reaction SAffspam 8
(A) CaCOs +2HCI CaClz + H20 + CO2 (A) CaCOs +2HCI CaCl> + H20 + CO»
(B) AgNO3 + KI —— Agl + KNO; (B) AgNO; + KI —— Agl + KNOs
(C) C+2Br ——Br+2C1 (C) Cl+2Br  —— B +2CI-
(D) BaClz + SO} BaSO4 + 2CI~ (D) BaCly + 803~ —— BaSO4 + 2CI
2-BA | [17] [ P.T.O.
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069. The E%q of Ag, Cu, Co and Zn are 0.799, 0.337, | 069.  Ag, Cu, CoUd Zn®h Eg . hH: 0.799, 0337,
—0.277 and — 0.762 V respectively, which of the —0.277TE-0.762V & d9 = T ¥ HI9 ¥ o
following cells will have max cell e.m.f. ? &1 e.m.f. Jferehdd M|
(A) Zn|zn** (M) Cu** (IM)|Cu (A) Znlzn** M) Cu®* (IM)|Cu
B) Zn|Z2* (M) Ag" (1M)| Ag (B) Zn|Z2* (M) AgT (1M)|Ag

2 (©) culcu** (M) Ag" (1M) | Ag (©) Culcu** (M) Ag" (1IM) | Ag
4
o (D) Znl|zn** (IM) | Co** (1IM)|Co (D) Znlzn** (1M) | Co** (1IM)|Co
;c':' \::.?
22070, What will be the value of AG and AG® for the 070. 3R A+B——C+D ¥ flw 27° C W
rKea_ct;(())rzl, A+B C + D at 27°C for which AG 3 AG® &1 T &1 BT, Foreept K = 10221
N . » (A) AG=0; AG° =—11.48kJ mol”!
(A) AG =0 ; AG’ =— 11.48kJ mol B) AG = 0+ AG" = 1148 1) mol-!
(B) AG =0 ; AG® = 11.48kJ mol”! (B) R - e mer
(C) AG - — 1148 kJ mol—l : AGO — 0 (C) AG - = 1148 kJ mj)ll 5 AG - 0

071. In which of the following changes entropy | 071. = @ & form uftads & Tt &1 7 "M
decreases. (A) oo & goiE &1 fspdectiento
(A) Crystallization of sucrose from solution (B) S # W ESRoIrGE|
(B) Dissolving sucrose in water ©) % T fger
(C) Melting of'ice 5
(D) Vaporization of camphor (D) EFCE i

072.  Why is the Heat evolved in neutralization of HF | 072. HF i ffshaar # fiesped arefl 3w 1 AW
is highest rfershad BT B it
(A) Due to low hydration energy of F ion (A) F 3=H &I E'IS@QI'—[ Tl H BH o HRIT
(B) Due to high hydration energy of F ion (B) F 3T sl BTES¥H Soll 31fereh &1 o Rl
(C) HF is a strong acid (C) HF U Y&t 37 8
(D) none of these (D) B'Clﬁ'w'?l o H prE T8

073.  The reaction between p-methyl benzaldehyde | 73, p-ufe s=afcesss 3 @g NaOH & wed B9
and conc. NaOH is an example of it fsran T srfufsean =61 3ergwor 21
(A) Cannizzaro reaction (A) e SAffshan
(B) Aldol condensation (B) Ucsid 999

rolysis
(C) Hydrolysi (C) ATTEeH
(D) Haloform reaction (D) TATEH TSR

074.  How benzene is converted inton - propyl benzene | 074.  s=iH, n - MU s A fopT TR afiafda grfi
(A) Friedel - crafts Alkylation (A) HIEA-3hTHE TABTZATH
(B) Friedel - crafts Acylation (B) ¥FIScA-hI%e THSATH
(C) Friedel - crafts Alkylation followed by (C) HISA-hTF TAREAIN o UgaTd foretdea

clemmensen reduction CUEDE
(D) Friedal - crafts Acylation followed by (D) HISA-hIF THEAIH & 9vard fectdaq
clemmensen reduction CrEDE]

2-BA | [18] [ Contd...



075.

Which of the following does not depend on the | ¢75. T8 & SET W’f\‘aﬁ & TR hl 3T 3RS
attraction of the bonding pair towards the nucleus. o it 78 e
Eg; il;e no. olf Protsnsﬂiln thle riucleu§ . (A) iR e 6
e repulsion by the electrons in the same . . .
volence shell (B) Fa | ad g ; an
(C) The amount of sheieding by inner shell iRy
electron (C) AT=Teh heT AT ohl TRTETOT AT
(D) The distance from the nucleus. (D) e 9 @
076.  Which of the following oxide is of acidic nature. | 076. 7 & & HH-HH & TS hT Tehid T
Bl 87
(A) B,0, (B) AlL,O4
(A) B,0, (B) AlL,O4
(€) Ga05 (D) Iny04 (C) Ga,0, (D) In,0,

077. In activation energy for a simple Chemical [ 077. Tsh HI¥R TEEe AT A — B &1 AW
reaction A — Bis E in forward direction. The rffsean st |fshare St E o 7, a9 = SAffsha
activation energy for reverse reaction 1 Gferaor Satf
(A) can be less than or more than E (A) E, ¥ % 19an 3feeh &1 dhdl 8
(B) is always double of E (B) Hag E, | ?ﬁt[:ﬁ gt
(C) isnegative of E | (C) E, =T FUMcHSD Bt
(D) is always less than E (D) gea E, q %A B

078.  The rate of first order reaction is 1.5 x 102 mol | 078. 9H whife & rfYfHaT &1 97 1.5 x 102 mol
L1 min! at 0.5 M concentration of the reactant. L' min~! 8 3fe s1fiepres & "=t 0.5 M B,
The half life of the reaction is TR & 319 STIRIA &1 AH B
(A) 0.383 min (B) 23.1 min (A) 0.383 min (B) 23.1 min
(C) 8.73 min (D) 7.53 min (C) 8.73 min (D) 7.53 min

079. 0.5 molal aqueous solution of a weak acid | 079. U g&fc_«l A H (HX) &1 0.5 AAd AT
(HX) is 20% ionised. If K. for water is foemm 20 vfosa omafa g 9t S& & fo
1.86 K Kg mol~!, the lowering in freezing point K, =T A 1.86 K Kg mol!, 8 a9 faerm &
of the solution is f&rTer o STa9T 1 °H B
(A) —1.12K (B) 0.56K (A) -1.12K (B) 0.56K
(C) 1.12K (D) —0.56K (C©) 1.12K (D) —0.56K

080.  Which of the following is not an example of | 080.  T4=1 # T %I | ANTIcH TEeTh HI 3G T4 2
addition polymer (A) dictrefd (B) dictifect
(A) Polythene (B) Polystyrene (C) T (D) ™A 6.6
(C) Neoprene (D) Nylon—6.6

2-BA | [19] [ P.T.O.
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081. The reactivity of the transition element usually | (081. TspHur dcal <hl fshaTedshdT I Sc @ Cu d&
decreases from Sc to Cu because of AR Tohees Il gedl 2
(A) Lanthanide contraction (A) IATES Hepad
(B) Continious increase in ionization enthalpy (B) 3T Tt # =R ziﬁg
(C) Continuous decrease in ionization enthalpy (C) I Tt | =t et
*@: g (D) Increase in no. of oxidation states (D) 3TTeREfTeRtuT STaE <hl T | gl-rg
Z@Ig 082. SO,i i i T i
i . , 1s considered as airpollutant because 082. HoH{ SEITFHES EIRESEED &% &9 ° HMET
\.,,.? (A) its concentration increases with temperature ST 8 Sifeh
e increase of atmosphere. (A) FHh! g W o | EIFE K
(B) Itisused as insecticide which is airpollutant A w2l 39 3
© It .reacts with O, and H,O to produce acid E]é; g EE: T H,0 N a:ﬁgi—ci{zﬁaq%ﬁ'q st
rain I T 2|
(D) It is a strong oxidant and oxidizes other (D) IE TH Ja SFIR BT & T a1y ¥
components of atmosphere 31 9Zh! Bl aﬁgﬁ%—d T 2d1 2l
083.  Ferric chloride is used to stop bleeding in cuts | 083. ohed W THAETE hl Ushd o foTU Ferric chloride
because o1 39T fehanm S 8 wnfeR
(A) Fe" coagulates blood which is positively (A) Fe3* Tod @l Tehied idl & Sl foh Uk
charged sol CEIDIECR ]
(B) Fe3" coagulates blood which is negatively (B) Fe3t T@d @l Thi-ad otdl & < fh Tk
charged sol FuTEIe At gl
(C) CI" coagulates blood which is positively (C) ClI- T ! Thied LT &8 S 6 Th
charged sol YT Gl 2l
(D) CI” coagulates blood which is negatively (D) CI- T ol Thied &l 2 o f6
charged sol RUTAH Fid 2l
084. A method of removing excess solute from a | 084, hiciss oo @ faom & sl =i 9o T
colloidal solution is <1 fafer 2
(A) distillation (B) crystallization (A) SATHIHTRT (B) ﬁ?{gﬁw
(C) dialysis (D) gaschromatography © STUTE TR (D) T4 shrHmTh
085. For a complex, MX,;Y; possessing trigonal | ¢85, we MH, Y, Wﬁgﬁ@ﬁﬁﬁaﬁnﬂ’q Torsef
prismatic geometry, the number of possible 2 F TuTfad TETeEE B
isomer is (A) 2 (B) 4
&) 2 (B) 4 <) 3 (D) 6
<€) 3 D) 6
086.  On doping Ge metal with a little of In or Ga, we | 086. In or Ga & 319 9T H Ge g1q & Iufyyer
get T BT B
Eg; p tyI;etsemiconductor (A) ptype s (B) AT
insulator e
(C) n - type semi conductor (€) n-type (D) fite
(D) rectifier
2-BA | [20] [ Contd...



087.  Zn converts from its melted state to its solid state, | (87. 7n 9 TTfeid 3TTCAT § 3T AT H UREfad
it has hcp structure, then the Number of nearest BIRL hep T WAl 2| a9 gHsy 3;@34% EA|
atoms will be e gl
(A) 6 (B) 8 (A) 6 (B) 8
© 12 (D) 4 C) 12 (D) 4

088.  If the pK, of acetic acid and pK, of NH,OH are | g8, ofe weifes s hi pK, ) NH,OH &l pK,,
4.76 and 4.75 respectively, what will be the pH of HHA: 4.76 AR 4.75 & q9 FAATEH UfHde
ammonium acetate solution o i pH 1 °H kil
(A) 951 (B) 7.005 (A) 9.51 (B) 7.005
(C) 7.00 (D) 6.9 (C) 7.00 (D) 6.9

089.  Which of the following has least oxidation state | 089. = & & foreH Fe =AaH STFH TR 3TeEe 1 2|

f Fe?
OA eK on (A) K, [Fe (OH)]
(A) K, [Fe (OH)g] ®) K, [FeO,]
(B) K, [FeO,]
(C) FeSO,-(NH,),S0,- 6H,0
(C) FeSO, - (NH,), SO, 6H,0O N
(D) Fe(CN)Z (D) Fe(CN)g

090. In electro chemical reaction of which set of | 090. f¥ehwehi & frH qqg h IECCERIRIEED
reactants, the metal displacement will not take Irfirfepar & 1 foreemq & ‘@Tr[
flace . (B) Pb+ At (A) Mg+ Cu?* (B) Pb+Ag"

A) Mg+ Cu B) Pb+Ag 2t 2
C) Zn+C D) Cu+M
(C) Zn+Cu2' (D) Cu+Mg2* © Zn+Cu (D) Cu+ Mg

091.  The IUPAC name of the compound 091.  ifiih CH; — CH (CH;) - CO — CH; =1 8
CH; - CH (CH;) - CO — CHj, is (A) 3 - Hl¥d - 2 - A\

(A) 3 -methyl - 2 - butanone (B) 2 - ufora - 3 - @@;ﬁq
(B) 2 - methyl - 3 - butanone ©) SAEEI A HeH
(C) 1isopropyl methyl ketone Aforer
(D) 2 ethyl - 2 methyl pentane (D) 2 uferet - 2 wforst

092.  CH;Mgl will give methane with 092. CH;Mgl feraeh Ty e gm
(A) C,H;OH (A) C,HsOH
(B) CH;-CH,—NH, (B) CH;-CH,-NH,

(C) both of these (a and b) (C) (a)Wd (b) gHI
(D) None of these (D) 3 ¥ HIS &l

093.  Onlongstanding the bleaching powder undergoes | (93, &« THI d% W W, sl 9Se Ea:
auto-oxidation. The products formed are FHRT O TRl 2 q9 fafda 3cue 2
(A) Calcium chloride only (A) HIA hicIFH FANZS
(B) Calcium chlorate only (B) el hicIrm Flle
(C) Calcium chloride and calcium chlorate (C) Ficy=m FANZE Td Hicyad Feiie
(D) Calcium chloride and calcium chlorite (D) Ficym FAIEE Td HicIad FeARIEe

2-BA | [21] [ P.T.O.
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094.  Colour of the bead in borax bead test is mainly
due to the formation of
(A) metal oxides (B)boron oxides
(C) metal metaborates (D)elemental boron

095.  Product (P) of the given reaction is

0 +
| (I) NaH / THF H;0/A
CH, - C - CH, — COOC,H, L (A) (B)
t ivalent
(two equivalent) (NH,),CO,
P) A

0 0
I [
(A) CH;—C—-CH,—CH,—C—CHs
0 0
I [
(B) CH;—C—CH — CH-C— CH;s
| \

COOH COOH
©
H
(D) P / \
CH3 N CH3
H

096. Cordite is a mixture of
(A) nitroglycerine, guncotton and vaseline
(B) borax, glycerine
(C) carborundum and charcoal
(D) glycerol and KMnO,

S ThT TEHET0T § HehT b1 U1 & &9 § T
¥ T % BT B B
(A) ©Tg TS
(C) g HeTeIReH

(B) S ATHEATSS
(D) HifeAeh ST

s1fufsran &1 3cTE (P) B

9] +
| (I) NaH / THF H,0/A
CH, -~ C ~ CH, - COOC,Hy = z (A) (B)

(NH,),CO
(P) 472 3

A

(two equivalent)

o O

I [
(A) CH3—C-CH2—CH; —C— CHs

O O

H H
(B) CH3;—C—CH — CH-C—CH;
| |

COOH COOH
(©)
CH; N CH,
H
o A\
CH3/ N CH,
H
Hige e o1 by 2
(A) TTESTREN, THehIe qm dHef=
(B) «Rad qer freradiH

(C) PRER-EH dUT HAThId

(D) ferRie dom KMnO,

2-BA|
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097.  Which out of the following is the strongest acid? | 97, fi= § 4 %= &1 Faiferes yoa 370 2
O 0
H H
(A) CH;COH (A) CH,COH
O 0
| u
(B) CH3CCOOH (B) CH3CCOOH
O 0
H H
(©) CHs C|JHCH3 COH (C) CH3CHCH3COH
|
CH3 CH;
(i 0
(D) CH3;CH2COH (D) H
CH3CH2COH
098.  Which element is not in first transition series 098. T ¥ @ = @1 dcd yuw wehHvT Avft H T8 7
(A) Fe B) V (A) Fe B) V
(C) Ag (D) Cu (€) Ag (D) Cu
099.  Which reagent is capable of giving test both of | 099. tfeegrss 9 g gHl o T ¢F W HeW
Aldehyde and ketones ARt 21
(A) Tollen reagent (A) T srfirpten
(B) Fehling solution (B) afer =et
(C) 2, 4 dinitrophenylhydrazine (C) 2, 4 STETEEIHHACETES (oM
(D) Shift reagent (D) T erfirenten
100.  Which reaction will not occur out of the following | 100. = o @ S it erfirfseen &t et
(A) Fe+ H2S04 Hz + FeSO4 (A) Fe+ H2S804 —— H2 + FeSO4
(B) Cu+ 2AgNOs3 Cu(NO3)2 + 2Ag (B) Cu+ 2AgNO3 Cu(NO3)2 + 2Ag
(C) 2KBr+ 1> —— 2KI + Bn, (C) 2KBr+ 1> —— 2KI + Bn,
(D) CuO + H2 Cu + H20 (D) CuO + H2 Cu+ H20
2-BA | [23] [ P.T.O.



BIOLOGY / Sftasms

101.  Urinary Bladder is absent in all birds, except 101. T=fafeg @ & fee Th ! Bieh gl gfer
(A) Duck (B) Gull T T U BT 2 7
(C) Owl (D) Ostrich (A) Sa@ (B) =mU

(©) 3% (D) wget
M%‘? 102.  Who developed DNA fingerprinting? 102. .TA.U. e *t fhaa foefea feman?
‘NE’% (A) T.H.Morgan (A) A= 9O

(B) Alec Jeffreys (B) U Iwi|
(C) Fedrick Sanger ©) Higeh T
(D) Francois Jacob (D) Shehlgd StehTel

103.  Which of the following is formed by mesoderm 103. fr=fafea § @ = g &+ AT O
of Gastrula? AT 8 ?
(A) Central Nervous System (A) gl qreT o
(B) Epidermis (B) Aferem
(C) Circulatory System (C) ufE=ror ax
(D) Liver and Pancreas (D) Ihd qAT AR

104.  The antibody produced in allergic reaction is: 104. wersht srfufsean o ffta 819 areht ufaeeft 3:-
(A) IgG (B) IgA (A) IgG (B) IgA
(C) IgE (D) IgM (C) IgE (D) IgM

105. When was Montreal Protocol signed? 105. A=A il T &1 el BW?
(A) 1985 (B) 1986 (A) 1985 (B) 1986
(C) 1987 (D) 1988 (C) 1987 (D) 1988

2-BA | [24] [ Contd...
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106.  Consider the following statements: 106. Tr=fafEa sl W famr Hie
Hardy Weinberg equilibrium is maintained in a HERCIESE {'igc’H 30 SEE § ﬂﬂté’aﬂﬁ?{
population where ﬁ?ﬂ %,Tﬂ%’f
(i) random mating is there (1) EI'I'%’%EF T g g
(i) there is no natural selection (i1) EI'I?&IE T & BT 2
(ii1)) a population may gain or loose alleles (iii)) Uk STEE g‘ﬂﬁlﬂ?ﬁqﬁ EaRsIE
Which of the statements given above is/are 3TagEdT gl Tl B
correct? ITE HAAT T G HH-T1/8 TEl 8/8 7
(A) (i) only (A) T (i)

(B) (i) and (ii) only (B) haat (i) 3N (ii)
(C) (ii) and (iii) only (C) had (ii) 3 (iii)
(D) (i),(ii) and (iii) (D) (1), (i) qAT (iii)

107.  Species which are closely related, 107. Trl'lﬁﬂ'i, St fehear @ gwaIfea %, A E
morphologically similar, reproductively qaEyq %, SeTcHeh foreAfiTa & e smeeties
isolated, live in sympatric population are TTEET § 9 L %, 3% Y Amifere feman
designated as: T 87
(A) Clines (B) Ecades (A) 99 (B) WIS
(C) Demes (D) Sibling (C) "qca (D) FHTTE

108.  Which one of the following group is 108. Tr=fafea o 9 SF-w g TIYUISTd 3TTaveh
nutritionally essential amino acids? Q'Eﬁ:ﬁ ITFAT hT %?

(A) Tyrosine, Valine, Tryptophan (A) TFUEH, Jefi, a"?ﬁb_—f
(B) Glycine, Cystine, Valine (B) TargdH, faed, Jefiv
(C) Histidine, Isoleucine, Threonine (©) %F{-\_cﬁﬁ:f, m@ﬂ{:ﬁq , IPEIEIE]
(D) Tryptophan, Leusine, Glycine (D) a@ﬁlﬂ, F\’{Fﬁ'vl, TATSH A
2-BA | [25] [ P.T.O.



109.  Which of the following statements about DNA is 109. SLT.T & fowg 4 f=fafea 5 @ H9-a1 oA
not correct ? g TE 87
(A) The double helix is right-handed (A) Teagpueett gfeomedt gt 2
(B) The nitrogenous bases are stacked on the (B) ?Eaﬁl'rl & _g‘?"g'%lzﬁ & ofifat it 31
inside of the helix BEKCIR IR
(C) The two strands of the double helix are (C) Teaspvsett & 3 Toe Afaemia Bd 8
anti-parallel (D) Z‘ﬁ Wﬂﬁ@?@ & &R FIEH'EﬁGﬁ
(D) The bases of the two poly-nucleotides AL R YREIeh foham ohid 3
interact by covalent bonding
110.  Match List-I with List-1I and select the correct 110. ‘éﬁﬁ—l ED) FEﬁ—II g ﬂ'ﬁﬁlﬁ Eﬁﬁm qadn ‘éﬂ\?ﬁﬁ EY
answer using the code given below the list. Eic] ﬁ{Q U e <hl T T &l 3R ﬂﬁ'&:—
List I List IT el 1 Ll
A.pBR 322 a. Vector A.pBR 322 a. digeh
B. EcoRI b. Transgenic monkey B. EcoRI b. URGHHT 6T
C. Andy c. Restriction endonuclease C. Q_spf c. gfaqee Q@qﬁ'\?’l@
Key: %
(A) A BC (B) ABC (A) A BC (B) ABC
a b c b c a a b c b c a
(©) A BC (D) ABC (©) A BC (D) ABC
a c b c ab a c b c ab
111.  Synoptonemal complex helps in 111. ﬂ"ﬂ?ﬁﬁ Tty fered TgTar i 87
(A) Gamete formation (A) FHh fmor)
(B) Recombination during cell division (B) SHIfITERT favTeM o g g’—mﬁ@r—n
(C) Production of enzymes during cell division ©) FIfETeRT favT o SUH TTgHl
(D) Chromosomal movement towards poles It |
(D) gai 1 AR UG FoeH|
2-BA | [26] [ Contd...



112.  Methemoglobinemia is caused due to the 112. 999 ° fF=fafea 1 9 foraeh sufeafa it
presence of in excess of which of the following SR o SHIUT HeEB ISR Bidl 2 7
in drinking water? (A) 8 (B) T3¢e
(A) Iron (B) Nitrate (C) SIEH (D) ™
(C) Phosphate (D) Copper

113.  Maltose is formed by which glycosidic linkage? 113. A frE TaEhifades 4 9 a4dT1 a-
(A) Glucose a 1-4 glucose (A) W o 1-4 Wgﬁg
(B) Galactose a 1-4 glucose (B) e o 1-4 ThE
(C) Glucose B 1-4 galactose (©) W B 1-4 oiwerd
(D) Glucose B 1-4 glucose (D) 1@'{:{ B 1-4 Wgﬁg

114.  Bombykol is a/an: 114.  STesiehlc 71 2 7
(A) Hormone (B) Parasite (A) BHH (B) WRsidt
(C) Pheromone (D) Enzyme (C) T (D) T~TgH

115.  The hormone somatostatin is secreted is from: 115. @t gmn frad anfad gar 87?

(A) medium eminence (A) ez wia=g

(B) zona glomerulosa (B) =8 TR

(C) delta cells in pancreas (C) ST $I o qﬁﬁ’lﬁﬂi
(D) choroid plexus (D) Th ATeteh

116.  Consider the following 116. fr=fafga w fomm Hifda
(i) Diarrhoea (i) Demantia (i) JaRe (i) T
(iil)) Dermatitis (iv) Delinquency (iii) TFNYT (iv) IR
Pellegra is characterized by which of the above? ey hl 31:@;5 T g I s & faeiwan g7
(A) (1), (ii) and (iv) (A) (i), (ii) TAT (iv)

(B) (1), (i) and (ii1) B) (i), (ii) TqAT (iii)
(C) (i), (iii) and (iv) (C) (i), (iii) AT (iv)
(D) (i), (i) and (iv) (D) (i), (i) T (iv)
2-BA | [27] [ P.T.O.
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117.  Which of the following animal groups belong to 117. T=ffEga § 9 w9-41 ez aum Cuk:|
same class? ey T@d1 87

(A) Wifem, SAfsreRd, B

(B) #weel, 9, fhefidie

(A) Pheretima, Lumbricus, Hirudinaria

(B) Spider, Louse, Millepede

%%% ©) C.uttleﬁsh, Devilfish, Squids (C) wheatww, g, fufFas
oo (D) Silverfish, Crayfish, Razorfish (D) T # g, fafamre, gofe
A
118.  Which one of the following is the correct 118. Sfusticn & fam & Arat srawenay &1
sequence of larval stages in the development of fafafea 4 9 sHE ITIRA T 27
Fasiola? (A) i, e, wiif, femdHien,
(A) Miracidium, Redia, Sporocyst, ki
Metacercaria, Cercaria (B) Tehin, Hiueifeam, warifie, fermehia,
(B) Cercaria, Miracidium, Sporocyst, e
Metacercaria, Redia (C) wrrEifeam, Tariferee, e, wehfan,
(C) Miracidium, Sporocyst, Redia, Cercaria, USRI
Metacercaria (D) g, whien, vemehian, T,
(D) Redia, Cercaria, Metacercaria, Sporocyst, Hrdifsay
Miracidium

119.  What is the reason of the eye disease “Cataract™ | 119,  #Hifqarfere s Il o= 2 7

(A) Destruction of sensory cells in retina.
(B) Lens becomes opaque.

(C) Loss of flexibility of lens.

(D) Increased pressure of vitreous humour in

eye ball.

Which of the following is produced by Yeast?
(A) Ascorbic Acid (B) Vitamin B,

(C) Tocopherol (D) Riboflavin

(A) e it Gadt mifsremed & foamy @
(B) ¥ % IIIRERId B4 &

(C) <" | ot 94 o 31vTd &

(D) SHTETH 5 % & gY &6l h BRI

A g Iearfed g B ?
(A) TEhlfeih 37 (B) foerfim B,
(C) oIl (D) TsETFeAfeH

[28]
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121.

CDRI (Central Drug Research Institute ) is 121.  #H.9.3m.3mE (a,—,;ﬁq 3nfer I wgnq)
situated at: feoa 2
(A) Allahabad (B) Lucknow (A) SATEETE (B) W@
(C) Kanpur (D) New Delhi (C) HHER (D) 5 fegh
122.  The animals of cold regions have short 122. IRE &A1 H T@H 910 91 % SIS 3T 8 21 39
extremities. This rule is known as: T 1 gd B-
(A) Bergman’s Rule (B) Dollo’s Rule (A) sEq &1 =M (B) Sl W fEm
(C) Allen’s Rule (D) Cope’s Rule (C) TR s | (D) =9 w1 fam
123.  The babies devoid of breast feeding by mothers 123. W ﬁ’T{[ ISCEIRC I UM &l Bt &g O
suffer from disease: o YHTfd BId &:-
(A) Pellegra (B) Kwashiorker (A) detn (B) eHITISTRR
(C) Beri-beri (D) Marasmus (€) sH-a0 (D) B rare=s)
124.  The infective stage of Entamoeba histolytica is: 124. el fFeaifadien < dshres 3Teeer B:-
(A) Minuta (B) Trophozite (A) AT (B) ABIEE
(C) Mature Cyst (D) Sporozite (C) Uit g (D) TIRISTEE
125. Which gland is present in Rabbit but absent in 125. o= O 9 SHE ofy o 8§ grf S 8§ At
frog:- Heeh | ITUIEdd gt g:-
(A) Salivary gland (B) Adrenal gland (A) @R ufy (B) Age Uty
(C) Thyroid gland (D) Acinus gland (C) ormetge Uty (D) T=ShIEH U
126.  Which one is called soluble RNA? 126. T A TRUAT haeATdl 3 ?
(A) r-RNA (B) t-RNA (A) IR-IMC  (B) A-IWTT
(€) m-RNA (D) hn- RNA (C) WH- AT (D) TATA- AREAY
2-BA | [29] [ P.T.O.
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127.  During Anaphase — I of meiosis: 127. w v & ThS-1 % 2NE:
(A) Homologous Chromosomes Separates. (A) FESIA R 9Uh B8 |
(B) Non-homologous Autosomes Separates. (B) AU At ERED gd 2 |
(C) Sister Chromatids Separates. (C) Foeet smfee gush 8 7 |
%%% (D) Non-Sister Chromatids Separates. (D) - e mfes 99 Tg?lﬁ % |
N
; \% 128. Which one of the following has the largest | 128. fo=fafEd § O forash @@= %{gm T g9 ST
o population in a Food Chain? AT (SHEE) Bidt 27
(A) Producer (A) 3cdTeeh
(B) Decomposer (B) Toees
(C) Primary consumer (C) wufies IYHIHT
(D) Secondary consumer (D) fedfiares Susih
129.  The Expanded form of DDT is: 129. S 1 foearia &9 2:
(A) Dichloro diethyl trichloro ethane (A) SEFAR STEUATEA TSR TS
(B) Dichoro diphenyl trichloro ethane (B) STEFANl STEMhTS ZIgaalill TS
(C) Dichloro diethyl tetrachloro ethane (C) SRFAN STEUAA STl TAT
(D) Dichoro diphenyl tetrachloro acetate (D) TTEFAN SRS LAl THIEE
130.  The term “gene” was introduced by: 130. ‘'St wee 3k ¢ & ICDIRIG IR
(A) Mendel (B) Bateson (A) Hed (B) seEA
(C) Morgan (D) Johannsen (C) A (D) &g
131.  Sporopollenin is found in: 131. SOOI 898 9/ ST 8
(A) Outer wall of Pollen grain (A) TR 1 & SR
(B) Inner wall of Pollen grain (B) WINTeRUT ENRCILIEC ALY
(C) Pollen Tube (C) AT Afetent
(D) Male gamete (D) WIH=*
132.  Actinomorphic condition can be represented as: 132.  Trsumemfig feafa w8 veisia 1 s ged 2
A) & B) % (A) @ B) %
€ © D) A (C) © (D) A
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133.  After pollination ovary develops into: 133. 9 B % ¢ ITSRE 39H fehfEa g 3:
(A) Carpel (B) Ovule (A) 3Ted (B) e
(C) Fruit (D) Mesocarp (C) & (D) meafufa
134.  Palisade parenchyma is absent in leaves of: 134. @™ Hgash TEhl gfl ° mﬁqﬁ% gIdT 8:
(A) Gram (B) Sorghum (A) =T (B) SO
(C) Mustard (D) Soyabean (C) @& O RIRIEIE]
135.  Vascular bundle without cambium is called: 135. UUfIEH Hoed 9 hgaTd 2
(A) Closed Vascular Bundle (A) g Gagt qd
(B) Open Vascular Bundle (B) @é} gt qd
(C) Conjoint Vascular Bundle (C) IIH Hast 9
(D) Radial Vascular Bundle (D) 3R FaEft qd
136.  In Ulothrix sexual reproduction is by: 136. 'ﬁ;ﬁ'@,}?ﬂ:{ T s IS99 39 YR BT &
(A) Anisogamy (B) Oogamy (A) TEETHA (B) T
(C) Isogamy (D) Muramic acid (C) auyHT (D) @&W Sl
137.  The nuclear material in a bacterium is made | 137, w® Sty T hdlsh Yerd 39 w1 Sl
up of: I 8:
(A) DNA (A) ST
(B) RNA (B) 3TTAT
(C) Protein (C) WiEH
(D) DNA & RNA both (D) <IUqT Td ARTAT ST
138.  The fruiting body of a mushroom is called: 138. Ueh HIEH hl oA hadTdl a:
(A) Sporocarp (B) Basidiocarp (A) TIRIY (B) wfarfeamenrd
(C) Ascocarp (D) Plasmodiocarp (C) TEHT (D) TeATHIfEATSTSHTd
2-BA | [31] [ P.T.O.



139. Gametophyte is the dominant stage in the | 139, g;qobﬁ;(:‘q 3eh Std <gh hl & SAE] 3
life-cycle of: (A) STTHIZT (B) fErerer
(A) Bryophyta (B) Pteridophyta (C) uf=Eredg (D) ST
(C) Angiosprems (D) Gymnosperms

I@% 140.  Pteridophytes are also called as: 140. CfEwised 77 oft wgard &:
:,.% (A) Phanerogams (A) EErae=s)
2N

(B) Spermatophytes (B) TUHIBTEH
(C) Vascular Cryptogams (C) ol e
(D) Amphibians of Plant Kingdom (D) UIE" STd o IHIER

141.  Canada Balsam is obtained from the plant: 141. TSI ST09H 39 9Ted © 9 fomam Sirar 8:
(A) Abies (B) Pinus (A) TSt (B) UrH
(C) Cedrus (D) Ginkgo (C) "™ (D) fiemt

142.  Replum structure is found in: 142. {9 GG S9H 9T ST @
(A) Ovary of Cruciferae (A) FHHA & 3TUEER
(B) Inflorescence of Compositae (B) HHINET ISIshH
(C) Stamens of Malvaceae (C) Headt & quT
(D) Root of Leguminosae (D) wfeeEt i g

143.  The lowest water potential in the xylem will | 143, ga® %0 5o favwe & J=@9 4 g
be of: (A) 7 R
(A) Root Hairs (B) WS % Tael I
(B) Vascular Bundle of Root (C) T i anfefent
(C) Tracheids of the stem (D) ufw=t
(D) Leaves

144.  Which one is a symbiotic nitrogen fixer? 144.  HIET Tsh TEsiid! ATgere fefiehie & ?
(A) Azolla (B) Glomus (A) TS (B) T@HH
(C) Azotobacter (D) Frankia (€) TSIl (D) SfeRar
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145.  The enzyme Rubisco is found in: 145. USISH &feEehl 398 IR ST &
(A) Chloroplast (B) Mitochondria (A) FAATES (B) qﬁjﬁ%ﬂ'{
(C) Cytoplasm (D) Nucleus (C) HITITRT goh (D) Ecc
146.  Which condition favors Guttation ? 146. == feufa 1%@ B 1 HgRIh g 7 Bk
W
. . o
(A) High humidity (A) ¥=1 e 7
.. 124
(B) Low humidity (B) W Mgt ;‘N%
(C) More transpiration (©) fere arcES
(D) Bright Sunlight (D) ;Eq‘ T ThTST
147. NAD"is: 147. TUAwE” %:
(A) A Protein (A) TH TIEH
(B) An Oxidizing agent (B) Teh ATFEihieh
(C) A Reducing agent (C) U YA
(D) Formed under only anaerobic conditions (D) haa AarEE uitfefaat o fFfifa
148.  Which one is Total Stem Parasite? 148. HE 41 q;uf AT TSAIE] 2 7
(A) Rafflesia (B) Santalum album (A) IFATET (B) oo UeaH
(C) Cuscutareflexa (D) Viscum (C) HERI ECE I (D) faehyg
149. The movement of Pollen tube is: 149. 9T HAferert 1 Tfd g 8:
(A) Chemotropism (B) Thermotactic (A) W@aﬁq (B) dM I
(C) Thigmonasty (D) Hydrotropism (€) ;qmﬁa—gﬂq (D) aﬁr:laﬁ:{
150.  Which one is a synthetic Auxin: 150. hI9ET Tk G53f¥q Aifeed 3:
(A) IBA (B) NAA (A) oTSeT (B) TAUY
(C) TAA (D) GA (C) 3TEuT (D) fu
2-BA | [33] [ P.T.O.
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